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1. Here is a coordinate grid.
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On the grid, mark with a cross (×)

(i) the point (3 , 5) and label this point A

(ii) the point (-2 , 4) and label this point B

(iii) the point (-4 , -3) and label this point C
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2. Here is a coordinate grid.
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On the grid, mark with a cross (×)

(i) the point (5 , 4) and label this point A

(ii) the point (-3 , 5) and label this point B

(iii) the point (-5 , -4) and label this point C
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3. Here is a coordinate grid.
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On the grid, plot

(i) the point (1 , 4) and label this point D

(ii) the point (-4 , 2) and label this point E

(iii) the point (-2 , -3) and label this point F
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4. Here is a coordinate grid.
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On the grid, plot

(i) the point (3 , 2) and label this point P

(ii) the point (2 , -1) and label this point Q

(iii) the point (-3 , -4) and label this point R
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Answers

Q1 Q2
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Q 3 Q4
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